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for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oo AIRE foet SepifR e fra

(a) Name the philosopher who initiated free
enquiry in philosophical domain.
T CRALS & SEPTAS oAl 91 AHEEAS
1 o

(b) Give one reason for regarding Descartes as
the ‘father of modern philosophy’.

eRoe Sy e e’ g s fraw <ot
TR T 9 |
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(c) Name the entity whose existence can be [ (h) Who defined substance as a centre of force?
known with certainty according to Descartes. TS 9 iﬁ" sy Tt syeet fiean wpeffieem
CSFI6 Neo [ e[ Sy =9 FHrvesid | & ?

o[ I G2 el [, SrE 49 |

(i) Name the lowest kind of monad according

(d) State one reason for which Descartes can be to Leibniz.
called a typical dualist. 1 iR wre SHRete My 89 TS & 3
wFive & Reme taean wrfe 3 @m Tl =, o o

=g, Ol 0] T Seay 41 |
(i) What is the meaning of ‘Actus Purus’

(¢) Name the philosopher who declared that according to Leibniz?

God and Nature are one'. . rafied W0 “Actus Purus’ 5% 52

Soaq W APl g’ Jfer CRECT P TS

T T 2. Give short answers to the following : 2x5=10
(f) How many attributes does the substance have woe AR v Seq frdl :

according to Spinoza? X

PEas DIvR (a) What are the two kinds of activity of the
oI H0o G919 @R 33 (A1, Sras 39 | monads according to Leibniz?

ferafererd 0o THIed 12 ARe & 6, Soas <41 |

(g) Descartes/Spinoza/Leibniz was regarded as

a hideous atheist. ; 5
(b) Name the two attributes of substance which
( Choose the correct answer ) the human mind can know as laid down by
(1D / Petcatren /oo g8 TR AR e - Spinoza. '
1= T =7 | oI T© PN TFCR SHA [l 999 39 100
( R8= T 1Mo ey ) 5, Temd <541 |
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(c) To whom the term ‘caﬁsa sui’ is applied

(d)

(e)

3. Answer any four of the following :

according to Spinoza? Explain its meaning.

‘Causa sui’ X! PocTaE e I8 CFaS
ST 91 78 7 2F[ & 7 47 |

State the meaning of ‘monism’. Name one
monistic philosopher.

‘G’ 9 fF, B | qme ) wEe

T SCEY 41 |

State two important points about the Cogito
(Self) in the philosophy of Descartes.

CSH69 7T Cogito (SEI) (¢ o1 el
A Ty 497 |

5x4=20

e R R ol w6 Taw foret -

(a) State about the four rules of Descartes’

20A/66

method of philosophy.

07 v “fos Ty 41 SIRG)
e foram |

{ Continued )

(5)

(b) ‘‘Every determination is negation.’”’ Explain

{c)

(d)

(e

20A/66

the statement with reference to its context.

CRfifresae] Y 2'd TRFRFI 17 LTRSS
i} 93 TfEor = 41 |

Explain the nature of Cartesian doubt
distinguishing it from psychological doubt.

TS vz 41 ACET A9 IS R CCHOR
SR 91 IR 4GRS T 91 1

Write a brief note on the nature of God
or Supreme Monad in the philosophy of
Leibniz.

forRfes e g 1 A9 IS RS el
g% 5 COr fors |

Define substance after Spinoza. State three

features of substance. Pl

fRogaTaE JCo AR AR S9RERT | 5319 fSfRE
caf*8y TrE 941 |
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4. Answer any four of the following : 10=x4=40 :‘ (e) Write an essay on the monistic philosophy of

weTs MAICARE R @I BifkeE Seg By ; Spinoza. Is it pantheistic? 6+4=10

(a) Explain the meaning of cogito ergo sum PGS Pl i e q® @3 o1 s |

(I think, therefore, I exist) and also determine | o T SRR =30 2
the position it occupies in Cartesian ‘
philosophy. 5:5-10 . (f) Explain Leibniz’s theory of monads. What is
o the meaning of the expression ‘monads are
Cogito ergo sum (V¥ wIid, sfes 3 windowless’? 6+4=10
SEQHE) e FARRS &= 4] 541 S A0S
) Ferafer FeirS-3=r i gty 011 <41 | TR
T TS ¢ FAAE 5 T IRFR R, ;
RRFRT @ren samms = &, B |
fRafae a1 |
Or / =i&31
(b) Examine critically Descartes’ philosophical _ _
method Give an account of the doctrineg of
: pre-established harmony of Leibniz. 10
S0 wffeie “[afocs! STCabAePeEd A
Frfies SmeeRr s J-REPe mE-
<41
oI TSIMCH! =0T <647 |
(c) How does Descartes solve the problem of
mind-body relation? Explain.
! . * 4 ok
T O X[ AT TPl (SIH
CRCTLF SILH SHIGIRREA, T 41 |
(d) Discuss critically Spinoza’s views on
‘attributes’ and ‘modes’.
QY SF R TR AN Q1T e
FAICETHATIE GO SSRCEIE] |
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